I have selected 5 athletes at different ages, but all of them looked buff, and measured their body fat. The results are listed in the table below.

	Age
	Percent body fat

	20
	4

	24
	7

	27
	5

	31
	11

	36
	14


Find the correlation coefficient and using a = .01 tell me if the correlation exists between the age of the individual and his fat.

What I am looking for is using the below formula.  Excel attachment separately please! Do not attach ANOVA approach = over my head!

Correlation coefficient ( r ):

This value gives us some intuitive input if relationship exists. The sign of "r" tells us if the slope is positive or negative, nothing else. The absolute value of "r" gives us some idea of the strength of the relationship; closer to 1.0, stronger the relationship. When you see r =(1.0, you have a perfect relationship and you can draw a line through all points on your plot. There is no error. Any value less than 1.0 in magnitude implies some points are not intersected by the line and those will induce some error.

In summary, the value of "r" must be between -1 and +1, both values inclusive. 

 My version of it is:

r = [n((XY) - ((X)((Y)]/({[n((X2)-((X)2][n((Y2)-((Y)2]}

The equation looks ugly, but it is easy to use. The entire denominator is a radical (under the square root sign).

n = number of data points you have

